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ADVANCED COST ACCOUNTING 
Paper-COM-405(AF)  Unit-I

Marginal Costing
Marginal Costing is a technique costing of determination of marginal cost by differentiating total cost in fixed cost and to see the effect on profit due to change in volume. From accounting point of view, marginal cost is the sum of variable costs i.e. prime cost plus variable O/H. Economists define change in total cost due to change in one unit of output.
Marginal Cost Equation:

The difference between sales and marginal cost of sales is known as contribution. Again contribution is the sum of fixed cost and profit. Therefore marginal cost equation is

S—V=C=F+P

Where, S = sales value; V = variable cost; C = contribution; F = Fixed Cost; P = Profit
Contribution may be define that excess of sales value over variable cost, which is available towards the recovery of fixed cost and excess of contribution over fixed cost is profit. 
Absorption Costing vs. Marginal Costing:
In Absorption costing product cost include both the fixed cost and variable cost. Therefore a portion of fixed cost for the year is carried forward to the next year by means of inclusion in closing w-I-p and finished goods. In Marginal costing the entire amount of fixed cost for the year is charged to Profit and Loss A/c for the specific year. Therefore closing stock is valued at marginal cost.
The following information relates to the first two years of operation for a newly created division of a manufacturing company:
Standard Manufacturing cost

	Direct Material

Direct Labour

Variable Manufacturing overhead Total Variable Manufacturing Cost Fixed Manufacturing Cost
Total Manufacturing Cost
	Unit Cost (Rs.)

4.00 4.00 2.00  10.00 4.00 
14.00



Standard Capacity 2, 00,000 units Selling Price Rs. 25 per unit
Selling and administration expenses Variable Rs. 2.00 per unit of output Fixed Rs. 3,00.000
Production and sales statistics :


Year 1
Year 2

Units produced
2,20.000
1,70,000
Units sold
1,80,000
2,00,000
[image: image6.jpg]6,48,00,000



Inventory Change
(+) 40,000
(--) 30,000
Required :

Prepare comparative Income Statement, for the first two years of operation, using both Absorption Costing and Marginal Costing.
Sol.

	Production (Units)

Units sold

      Sales( Rs. 23 per unit )       Opening Stock
	Year I 
2,20,000 
1,80.000 
Rs. 45,00,000
	Year 2 
1,70,000 
2,00,000 
Rs. 50,00,000  
5,60,000

	
	
	


Cost of Production :

Direct Material @ Rs. 4
Rs. 8,00,000
Rs. 6,80,000
Direct Labour @ Rs. 4
8,80,000
6,80,000
Direct V. Mfg. 0/H @ Rs. 2
4,40,000
3,40,000
Fixed 0/H ( Rs. 4
8,80,000
6,80,000
Total
30,80,000
29,40,000
Less : Closing Stock 40.000 x Rs. 14
5,60,000
1,40,000
10.000 x Rs. 14

Cost of Sales
25,20,000
28,00,000
Less : Over-absorbed fixed cost 20,000 a Rs. 4
80,000
Add : under-absorbed fixed cost 30,000 @ Rs. 4
1,20,000
Adjusted cost of goods sold
24,40,000
29,20,000
Profit
20,60,000
20.80,000

              Under Marginal Costing Method


Year 1
Year 2

Saks
Rs. 45,00,000
Rs. 50,00,000
Marginal Cost :

Opening cost
4,00,000
Direct Material (j Rs. 4
8,80,000
6,80,000
Direct Labour @ Rs. 4
8,80,000
6,80,000
Variable Mfg. 0/H @ Rs. 2
4,40,000
3,40,000
Total Variable Production cost
22,00,000
21,00,000
Less Closing Stock
4,00,000
1,00,000
Variable Cost of goods Sold
18,00,000
20,00,000
Contribution Margin
27,00,000
30,00,000
Less : Fixed Cost
8,00,000
8,00,000
Profit
19,00,000
22,00,000
 Break Even Chart:
A chart which reflects the profitability position of an organisation at various levels of activities and also reflects the position at which neither profit nor loss is made i.e. the Break even Point. There are some assumptions in construction of a Break Even Chart.
Assumptions:

(i) Total Fixed Cost is constant and variable cost per unit is also
constant.
(ii) There is no opening and closing stock.

(iii) Selling Price per unit of the product is constant.

(iv) Semi-fixed cost could be segregated into variable and fixed cost.

(v) Operating efficiency of the firm is unchanged. 

For mathematical calculation
BEP (units) =Total Fixed Cost 

Contribution for unit
BEP (units) =
Total Fixed Cost X Selling Price per unit

Contribution per unit

Profit /volume ratio /P/V ratio/ Marginal Income ratio
Contribution


P/V ratio =
Sales

                       Change in Contribution
[Assuming Selling Price per unit, Variable cost per unit is
Change in Sales
Constant]
Change in Profit
[Assuming Selling Price per unit, Variable cost per unit, total
Change in Sales
fixed cost remain constant]

     P/V ratio indicates relative profitability of different alternatives.

Margin of Safety (M/S) :
M/S is the excess of actual sales over the Break Even Sales. M/S indicates the health position of a business.
M/S is calculated by applying the formula

	M/S
	Profit 
P/V Ratio


Angle of Incidence
This is the angle between total cost and total sales revenue over the Break Even Point. This angle indicates the Profit earning capacity of the firm over the Break Even Point.
Cost-Volume-Profit Analysis_ (C-V-P Analysis) :

C-V-P Analysis shows the effect on profit due to change in fixed cost, variable cost, selling Price and sales mixture. It is a study to examine the impact  of change in selling price, variable cost and total cost bon the parameters like Break Even Chart, P/V ratio and Margin of safety.
For example Existing Fixed Cost of an organization is Rs. 120000, Selling price of the product is Rs. 20 per unit and actual sales value realized Rs. 300000. It is also given variable cost per unit of the product is Rs. 10 per unit.
In this situation Break Even Point = Fixed cost/ contribution per unit= Rs. 120000/20-10= 12000units; P/V ratio= Contribution/sales*100= 10/20*100=50%; Margin of Safety= Actual Sales- BEP sales= Rs.300000/20-12000units=3000units.
Now selling price increases by 10% and other components are same as it was earlier, then revised selling price will be Rs. 22 

New BEP= Rs. 120000/Rs.22-10=10000units i.e BEP decrease  by 2000/12000*100= 16.67%

; new P/V ratio= 22-10/22*100=12/22*100=54.5% and new M/S= 15000units-10000units=5000 units i.e. M/S increase by 2000/3000*100=66.67%.
Similarly if variable cost is rise by 10% then new Variable cost will be Rs. 11 per unit. New BEP will be Rs. 120000/Rs. 20-11=13223units i.e. BEP will rise by 1223/12000*100=10.2%; revised P/V ratio will be =20-11/20*100=45% and revised M/S will be 15000-13223=1777units i.e. M/S decrease by =1223/3000*100=40.7%
Similarly Fixed cost may also change its impact has to be studied on BEP,P/V and M/S.
Applications  of Marginal Costing :
The marginal costing technique has application in various practical fields such as Verification of existing product mix, fixation of product selling price, selection of optimum 7roduct mix, selection of optimum method of manufacturing, Making or Buying decision, close
decision.

A)
Diversification of existing Product mix :
Sometimes management faces a problem whether a new product should be incorporated in the existing products schedule or not. The new product may be incorporated in the existing 7roducts schedule if its contribution is positive, assuming fixed cost is constant. If the new Product relates with some additional fixed cost; then excess contribution over additional fixed cost (specific fixed cost) is to be considered, whether it is positive or negative. If the excess contribution over specific fixed cost of the new product is positive, then the new product is to be incorporated in the existing product schedule otherwise not.

(b) Fixation of Product Selling Price :

In marginal costing technique, product price is the sum of marginal cost and a certain amount. The amount to be added will depend upon the demand and supply of the product, competition, nature of the product. But sometimes product price may be below than marginal cost such as in case of perishable nature product, when a new product is to be incorporated, to drive out weaker competitor.
(c) Selection of optimum Product mix :

Product mix indicates the ratio in which various products are to be produced. In the absence of any constraint (limiting factor), contribution under each mix will be considered and the mix that will give the highest contribution will be optimum one. But when changes in product mix is associated with changes in fixed cost, relative profitability of each mix is to be considered and the most profitable mix is to be chosen. Limiting factor is a factor that restricts production and/or sales. But when resources are scarce F ection of profitable product on the basis of contribution per unit of limiting factor. Briefly, the higher the contribution per unit limiting factor, the more profitable is the product ana vice versa.

(d) Selection of optimum method of manufacturing :

When fixed cost remains constant, the optimum method will be highest contribution providing one. Where fixed cost changes, the decision will be taken on the basis of relative amount of Profit.
(e) Making of Buying decision :

When fixed cost is constant, marginal cost is to be compared with purchase price. If marginal cost is lower than purchase price, making is preferable than buying. But when fixed cost changes, then additional fixed cost may be added to marginal cost for the anticipated volume for the purpose of comparison with purchase cost of the product for the anticipated volume. If the sum 01 additional fixed cost and marginal cost of the anticipated volume is lower the Purchase cost of thc product for that anticipated volume, making is preferable than buying.
When there is no idle capacity and accordingly making the components in the factory require putting aside other work, the loss of contribution from ceased work should also be considered along with marginal cost of production. In other words, so long as purchase price will be higher than the marginal cost of production plus additional fixed cost plus loss of contribution, it would be more profitable to manufacture.
In some cases management may prefer to make than buy even if additional contribution is nil or very low.
(i) Making ensures delivery of stock regularly;

(ii) The technical design may be trade secret;

(iii) There may be transport difficulties in delivery goods.

Sometimes, buying may be preferable than making such as —

(i) Proper facilities for manufacture may not be readily available. Even when facilities are available during slack times only.
(ii) Market trend for the item to be manufactured may be seasonal or cyclical.

(iii) Small return on capital employed in manufacturing.

(f)
Close down decision
When general fixed cost remains constant, a product may be shut down if its contribution is less than the fixed cost associated with it. When general fixed cost is likely to come down in the event of closure of a produce, the excess of contribution over specific fixed cost will have to be compared with savings in general fixed cost. If the savings in general fixed cost exceeds the excess of contribution over specific fixed cost, closing down will be more profitable and vice versa.
There are certain other factors that should be considered in make or buy decision

  ( i )
      Obsolescence of plant if any;
(ii) Holding the customers;

(iii) Relationship with workers;

(iv) Relationship with suppliers;

(v) Chances of bad debt etc.

Problem-1: A Food Product Company is surveying in the market to introduce a new chocolate Boom. Boom’s are wrapped in aluminium foil and contain 50 bars. An aluminium foil pack is considered the basic sales unit. Although management had made detailed estimates of costs and volumes prior to undertaking this venture, new projections based on actual cost experience are now required.
Income Statement for the last two quarter are each thought to be representative of the cost and productive efficiency we can expect in the next few quarters. The Income statements reveal the following:

                                                                                    First Qtr.(Rs.)
Second Qtr.(Rs.)

Sales:

40000xRs. 25



60000x Rs.25





1000000
15000000

Cost of goods sold




560000
   740000
Gross Margin




        440000
  760000

Selling and Administrative O/H                                  500000
   550000

Net Income (Loss) before taxes
                       (60000)



    210000

Tax (Saving)
                                                               (30000)                                                105000

Net Income (Loss) after taxes
                                      (30000)                                              105000

The company’s overall tax rate is 50%.

Required:

(a) Management would like to know the breakeven point in terms of quarterly aluminium foil sales for the chocolates.
(b) Management estimates that there is an investment of Rs. 2000000 in this product line. What quarterly aluminium foil sales and total revenue are required in each quarter to earn an after tax return of 10% per annum on investment?

(c) The firm’s marketing people predict that if the selling price is reduced by Re. 1 per aluminium foil and a Rs. 100000 advertising campaign among college student is made, sales will increase by 25% over second quarter sales. Should the plan be implemented?
Sol.   Qtr.              No. of Foil Sold            Cost of goods sold (Rs.)

II
60000
740000

I


40000
                    560000

Difference
20000
180000

Variable Mfg. Cost= Change in cost/ Change in level of activity= Rs.1 80000/20000= Rs. 9
Fixed Mfg. cost = 560000-40000*9=Rs. 200000

Variable Selling and Administrative O/H=550000-500000/60000-40000=Rs. 2.5

Fixed Selling and Administrative O/H= Rs. 500000-40000xRs.2.5=Rs. 400000

Total Variable Cost = Rs. 9+2.5=Rs. 11.5

Total Fixed Cost= Rs.(200000+400000)= Rs. 600000

BEP= Total Fixed Cost/ contribution per unit

        = Rs. 600000/Rs(25-11.5)=Rs. 600000/Rs. 13.5=44445 foils

(b) After tax return 10% on Rs.2000000

=Rs.200000 i.e. Rs. 50000 per qtr. 

Tax rate is 50%

Quarterly return before tax = 50000x100/50= Rs. 100000 

Required quarterly contribution= Fixed cost+ desired profit before tax

                                                          = Rs. (600000+100000)= Rs. 700000

Desired Sales=  Desired Contribution/ contribution per unit




= Rs. 700000/Rs. 13.5= 51852 foils

©Revised selling price= 25-1=24

Revised contribution= Rs. 24-13.5=Rs.11.50

 Increase in advertisement expenditure= Rs. 100000

Revised Fixed Cost= Rs. 600000+100000=Rs. 700000

Revised Sales= 60000x125/100=75000 Foils
Revised total Contribution= 75000xRs.11.50=Rs. 862500

Less: Revised Fixed Cost
           Rs. 700000

Revised Profit
               Rs. 162500

Tax 50%

                                                Rs. 81250

Net Income (after tax)                                            Rs.81250

Since the revised income is lower than second qtr. income, so plan should not be implemented.
Problem-2:A company manufactures who Products A and B, using imported raw materials. The Selling prices of these products are A Rs. 144, B Rs. 216. The Standard Cost data are as under:

Product A
Product B 

Rs.
Rs.
Raw Materials P
15
20
Q
5
20
Direct wages @ Rs. 4 per hour

Department 1
24
36
2
12
24

3
36

4
48

Variable over head
16
14
Fixed overhead per annum
Rs. 2,50,000
The company operates a 8 hour shift for 300 days in a year and the number of workers engaged in each department is given below :


Department
No. of workers

1
45

2
24

3
27

4
36

Required:
(i) How many units of each product should be manufactured and what is the resultant maximum profit if the number of employees cannot be increased or transferred from one department to another.
(ii) If only one product is to be manufactured by the company.

(a) Which of the products would give maximum profit and what is the amount of such Profit.
(b) Which of the products should be manufactured to yield optimum profit and what is the amount of such profit if the availability of both the raw materials in total is limited to Rs. 1,80,000.00
Sol.
Working
(a)
Total available hours:
Dept.
No. of workers
Days
Hrs./Day
Total hours available
1
45
300
8
1,08,000

2
24
300
8
57,600

3
27
300
8
64,800

4
36
300
8
86,400

                                                                                                                                        3,16,800

(h)
Hours required per unit of each product in each department
Product A
Product B

	Dept.
	Labour cost/ Unit (Rs.)
	Labour hour rate
	Hrs./Unit
	Labour cost/ unit
	Labour Hrs. rate
	Hrs./unit

	1
	24
	4
	6
	36
	4
	9

	2
	12
	4
	3
	24
	4
	6

	3
	36
	4
	9
	
	-
	

	4
	
	
	
	48
	4
	12

	
	72
	
	18
	108
	
	27



Product wise contribution:
Product- A
 (Rs.)
Product B (Rs.)
Selling Price
144
216
Variable Cost :

Direct Material
20
40
Direct Wages
72
108
Variable 0/H
16
14
Total Variable Cost
108
162

Contribution per unit
                           36                                                 54

Possible units, which can be produced:
Taking A first :

Dept.
Total hours • Hours/ Unit
Units of A
1

2

3

4

Since 7,200 units in Dept. 3 exhausts, the capacity of that department, maximum production 

Possible of A unit is 7,200 units. The balance hours in other department should be used for production of B as follows:

possible

Total hours
Hrs./unit of A
Hrs. required for
Balance hours.
Hrs./unit of B
7.200 units of A
unit of B
	1
	1,08,000
	6
	43,200
	64,800

	2
	57,600
	3
	21,600
	36,000

	3
	64,800
	9
	64,800
	

	4
	        86400
	-
	
	86,400


9
7200
7,200

6
6000
6,000

12
7200
7,200

Since 6,000 units of B exhausts the available hours in Dept. B. The production of B is limited to 6,000 units. Hence proposed product mix, if Production of unit A is taken up first is :

A
7,200 units

B
6,000 units
Profitability of mix is:

Products
Production
Contribution per unit Rs.
Total Contribution (Rs.)

	A
	7,200
	36
	2,59,200

	B
	6,000
	54
	3,24,000

	
	
	
	5,83,200

	Less: Fixed Cost
	
	
	2,50,000

	Profit
	
	
	3,33,200



	Taking Product B first :

Dept.
Total hours
	Hrs./ Unit
	Units

	1
	1,08,000
	9
	12,000

	2
	57,600
	6
	9,600

	3
	64,800
	
	

	4
	86,400
	12
	7,200


Since 7,200 units exhaust the hours available in Dept. 4, the maximum production of B will be 7,200 units. The balance hours available in all the departments will be diverted to Product A.
Hrs. required for
Balance hours
Possible
Dept.
Total hours
Hrs./unit Of B
Hrs./unit of A
7.200 units of B
for A
unit of A


	1
	1,08,000
	9
	64,800
	43,200
	6
	7,200

	2
	57,600
	6
	43,200
	14,400
	3
	4,800

	3
	64,800
	
	
	64,800
	9
	7,200

	4
	86,400
	12
	86,400
	
	
	


Since 4,800 units of A exhaust the available hours of Dept. 2. The production of A is limited to 4,800 units only.
Hence the proposed product mix, if production of B is taken first, will be

Product A
4,800 units
Product B
7,200 units
Profitability of mix is :

Product
Production
Contribution per unit ( Rs.)    Total Contribution (Rs.)
A
4,800
36
1,72,800

B
7,200
54
3,88,800
5,61,600

Less : Fixed Cost
2,50,000
Profit
3,11,600
So the recommended mix is

Product A
7,200 units
Product B
6,000 units
The resultant profit will be Rs. 3,33,200
(ii) Products

(iii)            A                        B
Contribution                                                                                                                                                      Rs. 36
               Rs. 54
Maximum Production units                                                                                                      7,200
             7,200
Maximum Contribution                                                                                        2,59,200         3,88,800
If only one product is ,to be produced, we should prefer Product B, because it yields comparatively a larger contribution.
(iv) If raw material is in short supply :
Products 
        A               B
Raw material available
Rs. 1,80,000     Rs. 1,80,000
Raw material per unit
Rs. 20
Rs. 40
No. of units, which can be Produced
9,000
4,500
Maximum possible number of units as per available hour
7,200
7,200
in Dept. 3 or 4

Production Possible contribution per unit
Rs. 36
Rs. 54
Contribution
Rs. 2,59,200    Rs. 2,43,000
Product A should be preferred to Product B, if raw material is in short supply, because it yields a larger contribution of Rs. 2,59,200 in this situation.
Problem-3: A Company manufactures 3 lakh units of Product A and 2 lakh units of product B per annum. The following figures are extracted from its cost books related to the cost of above products.

Sales Value                                                                              Rs. 44 lakhs

Direct Material
               Rs. 8.00 lakhs

Direct labour
                   Rs. 11.00 lakhs

Factory Overheads
                            Rs. 11.00 lakhs

Administration and Selling Overheads
                          Rs. 6.00 lakhs

50% of factory overhead is variable and 50% of administration and selling overheads are fixed. The Selling price of A is Rs. 8 and B is Rs.10 per unit. The direct material and labour ratio for product  A is 1:1.5 and for B is 1:1.25. For both the products , the selling price is 400% of direct labour. The factory overhead are charged in the ratio of direct labour and administration and selling O/H are recovered at a flat rate of Re. 1 per unit of A and Rs 1.50 per unit of B.
Due to fall in demand of the above products, the Company has a plan to diversify and make product C using 40% of the present capacity. It has been estimated that for C direct material and labour will be Rs. 1.50 and Rs. 2 respectively. Other variable cost will be same as applicable to product A. The selling price of C will be Rs. 9 per unit and production will be 3 lakh units.
Assuming balance 60% capacity is used for manufacture of A and B.

(a) Calculate present cost and profit and 

(b) Costs and profits after the diversification is implemented and 

(c)  your recommendation as to whether to diversify or not.

Sol. (a) Statement showing the present Cost and Profit


A                 B                Total

Production and sales units in lakhs                                        3
2
5

Sales Value (Rs. in Lakhs)                                                    24.00            20.00          44.00
Variable Cost: Direct Material 6*1/1.5 and 5*1/1.25                    4.00                4.00
          8.00

Direct Labour: ¼*sales value                                                           6.00
  5.00              11.00

Variable Factory Overhead (50%)                                                   3.00               2.50                 5.50

Variable Selling and administrative O/H (50%)
1.50               1.50                 3.00

Total Variable cost                                                                            14.50             13.00                27.50
Contribution                                                                                         9.50               7.00                16.50

Less: Fixed Factory Overhead
5.50

         Fixed Selling and Administrative O/H
3.00
Profit
8.00

Overall P/V ratio=  Contribution/Salesx100 = 16.50/44x100=  37.5%

(b) Statement showing Costs and Profits after diversification

60% of (a)                 40%                Total

Products
A                  B
C
Production and Sales (Units in lakhs)
1.80              1.20
    3
6
Sales Value (Rs. In lakhs)
14.40            12.00
27
53.40
Variable costs:

Direct Material
2.40

2.40
4.50
9.30
Direct labour
3.60


3.00
6.00
12.60

Variable Factory O/H
1.80


1.50
3.00
  6.30

Variable Selling and Administration O/H  .90                     .90        1.50                       3.30
Total Variable Cost
8.70


7.80
15.00
31.50
Contribution
5.70                  4.20        12.00                  21.90

Less: Fixed Factory and Selling, Administration O/H

    8.50

Net Profit



13.40

Revised overall P/V ratio = 21.90/53.40x100 =41.01%

(Same as in (a), because co. operates within 100% capacity) 

© Recommendations: The company should immediately implement the proposed diversification because :
(i) The net Profit has increased from Rs. 8 lakhs to Rs. 13.40 lakhs

(ii) There is Overall improvement in P/V ratio from 37.5% to 41.01%
Problem-4: (Make or Buy) Expansion Ltd. manufacturer automobile accessories and parts. The following are the total cost of Processing 1,00,000 units:
Direct material cost
Rs. 5 lakhs
Direct labour cost
Rs. 5 lakhs
Variable factor 0/H
Rs. 6 lakhs
Fixed factory 0/H
Rs. 5 lakh
The purchase price of the component is Rs. 22. The fixed overhead would continue to be incurred even when the component is bought from outside, although there would have been reduction to the extent of Rs. 2,00,000.
Required:

(a) Should the part be made or bought considering the present facility when released following a buying decision would remain idle?
(b) In case the released capacity can be rented out to another manufacturer for Rs. 1,50,000 having good demand, what should be the decision?

Sol. (i)
Statement showing the cost to make or buy.
Make
Buy (capacity 

(Rs/Lakhs)
to remain idle) 
	Relevant cost to make
	
	19
	

	Purchase Price
	
	         -
	22

	Reduction in Fixed 0/H
	
	
	(2)

	Total relevant cost
	
	19
	20


 (Rs./lakhs)

Since the cost to make is less than that to buy, it is advisable to manufacture the component presuming idle capacity is not alternatively used.
(ii)
Statement showing cost of two alternatives when released capacity is rented out.
Make
Puy
   (Rs/Lakhs)
(Rs/Lakhs)
Relevant cost to make:
19
Purchase Price
22
Reduction in Fixed 0/H
(2)
Rented income from alternative tit
(1.5)
Total relevant cost
19
18.5

In this situation, the decision is in favour of buying from outside source.

 Problem-5:  (Diversification of Product)

Auto Parts Ltd. has an annual production of 90,000 units for a motor component. The component cost structure is as follow                                                                Per  Unit(Rs.)
Material
270
Labour (25% fixed)
180
Expenses:

Variable
90
Fixed
135
675

(a) The Purchase manager has an offer from a supplier who is willing to supply the component at Rs. 540. Should the component be purchased and production stopped?
(b) Assume the resources now used for this component's manufacture are to be used to produce another new product for which the selling price is Rs. 485.
In the latter case the material price will be Rs. 200 per unit. 90,000 units of this product can be produced at the same cost basis as above for labour and expenses. Discuss whether it would be advisable to divert the resources to manufacture that new product. On the footing that the component presently being produced would, instead of being produced, be purchased from the market.
Sol. (a)Statement showing the variable cost and Purchase cost of component used by Auto Parts Ltd.

Variable Cost
Per Unit Total for 90,000
units (Rs.)

Material
270
2,43,00,000
Labour
135
1,21,50,000
Expenses
90
81,00,000
Total variable Cost (when component is produced)
495
4,45,50,000
Cost of Purchase (when component is Purchased)
540
4,86,00,000
Difference (excess of Purchase Price over variable Cost)
45
40,50,000
Fixed expenses are not being affected. It is evident from the above statement that if the component is purchased from outside supplier, the company will to pay Rs. 45 per unit more and on 90,000 units the company will have to spend Rs. 40,50,000 more. Therefore, the company should not stop the production of the component.
(b)The following statement shows the cost implication of the proposal to diverse the
available facilities for the new product.

Statement showing the contribution per unit if the existing resources are used for the production of a new Product.
	Selling Price of new Product Per unit Less Variable Cost
Material                                                                   200                                                                                                                     
Labour (variable)                                                       135            
	Rs.
Rs.
485


Expenses (variable)                                                                     90

425
Contribution for unit
60 

Loss per unit if the present component is purchased:
Purchase Price of the existing Product
540
Less: Total variable cost of Producing the existing component as shown as shown in (a) above
Excess Cost
495
     45

Thus, if the company diverts the resources for the production of a new product, it will benefit by Rs.15 i.e. Rs 60-Rs.45 per unit on 90000 units, the company will save Rs.13,50,000. 
Therefore, it is advisable to div.ert the resources to manufacture the new product and the component presently being produced should be purchased from the market. This is also brought out by the following figures:
Total cost of Producing the component (A)(90,000x675)
Cost purchasing the component (90,000x540)
Fixed expenses not having been
Saved 90,000x 180(i.e.675-495)
Less: contribution from the new Product (90,000x60)
Total cost if component is purchased and new product is made(B)
Savings(A-B)

6,07,50.000

[image: image1]
4,86,00,000
1,62,00.000
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54,00,000
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Problem-6: (MinimumPrice)A small scale manufacturer produces an article at the operated capacity of 10,000 units while the normal capacity of his plant is 14,000 units. Working at a profit margin of 20% on sales realization, he has formulated his Budget as under:
	
	10,000(Rs.)
	14,000(Rs.)

	Sales realisation
	2,00,000
	2,80,000

	Variable overheads
	50,000
	70,000

	Semi-variable overheads
	20.000
	22,000

	Fixed overheads
	40,000
	40,000


He get sales order for a quantity equivalent to 20% of the operated capacity and even on this additional production profit margin is desired at the same percentage on sales realization as for production to operated capacity.
Assuming Prime Cost is constant per unit of production, what should be the minimum price to realize this objective?
Sol.                                    Computation of Prime Cost
                                    Rs.
	Sales a to perated capacity
	2,00,000
	

	Less:Profit margin(20%ofsales)
	40,000
	

	Cost of sales.

	1,60,000
	

	Less:overheads:
	Rs.
	

	Variable O/H
	50,000
	

	Semi-variable O/H
	20,000
	

	Fixed O/H
	40,000
	
	
	l,10,000

	Prime Cost
	
	
	
	50,000


Statement showing differentialcost for 2,000units
            Cost of 10,000 units
Cost of 12,000 units
Differential cost for
2.000 units
.
.
.
	Prime Cost
	50,000
	60,000
	10,000

	Variable Cost
	50,000
	60,000
	10,000

	Semi variable overhead
	20,000
	21,000
	1,000

	Fixed O/H
	40,000
	40,000
	

	
	1,60,000
	1,81,000
	21,000


Differential cost per unit relating to 2,000units
[


Rs.21,000]
2,000
10.50
Add:Profit 20% on sales i.e.25% on cost

2,625 

13.125

[image: image5]
Hence the minimum selling price to realize the given objective is Rs.13.125

 Close  Down
Problem-7: ACompanyhasthreebranchesandtheirSummarisedaccountingparticularsaregivenbelow:
BranchesSales

Mumbai(.)
4,50,000

Kolkata(Rs.)
4,00,000

Chennai(Rs.)
7,00,000

Sol.
Sales                                                   450000
Gross Profit(P)(25%ofsales)
Branch Expenses:
Salaries, Commission
	And Travelling expenses
	41,000
	
	
	41,000
	40000
	
	  60000
	               141000

	
	l,41.000

	Advertisement
	9,000
	
	
	10,000
	10000
	
	   11,000
	                30000
	
	30,000

	Other expenses
	10,000
	
	
	1J,000
	11000
	
	   12000
	12003               33000
	
	33,000

	Total Branch Expenses(Q)
	60,000
	
	
	61,000
	61000
	
	83000

83,000
	        204000
	
	2,04,000

	Contribution towards recovery of
Central office expenses(P-Q)
	52.500
	
	
	39,000
	39000
	
	92000
2,000
	        183500
	
	1,83,500

	Less: Central office expenses
	
	
	
	
	
	
	
	
	
	

	(apportioned on sales value-basis)
	45,000
	
	
	40,000
	40000
	
	70000

70,000
	      155000
	
	1,55,000

	Branch Profit/Loss
	7,500
	
	
	0000)
	-1000
	
	22000,000
	            28500
	
	28.500


Since Kolkata branch is showing a loss of Rs.1,000, it is proposed to closed down this branch. This proposal should be evaluated in the context of two alternative situations viz.(a)no reduction in central office expenses and (b) reduction in central office expenses by Rs.46,SOO (30% of Rs.1,55,000).
In this case, closure of Kolkata branch was result in loss of contribution by Rs.39,000 while the entire amount of central office expenses will have to be shared by Mumbai and Chennai branches.Thus,central office expenses remaining constant ,the overall profit will come down by Rs.39,000 i.e. amount equal to the loss of contribution. This is evident from the following statement:

(b)In this case, if the reduction in central office expenses exceeds the loss of contribution closing down will result in improving the overall profit position. In other words, if Kolkata branch, profit will 7,500 i.e.Rs.46, 500-Rs.39,000.
This is evident the following:
Contribution from other two branches
Less: central office expenses (Rs.1, 55,000-46,500)

Net Profit
Thus, closing down the Kolkata branch would be more profitable
Glossary: Contribution, Angle of Incidence, Margin of Safety, limiting factor, Product mix


Rs.
1, 44,500
1.08,500
36,000
Probable.Questions
1. What is the effect of the following on the break even point and on the profit-volume ratio?
Give reasons in support of your answer:··._
(i) Increase in Physical Sales (No. of units).
(ii) Decrease in variable cost per unit.
(iii) Increase in the Selling price per unit.
(iv) Decrease in the total fixed cost.
(v) Increase in raw material cost.
(vi) Decrease indirect labour efficiency.
(vii) Discount on Selling Price.
2. Write the significance of Marginal Cost equation. What are the limitations of Break Even Chart? Briefly discuss the limitations of Marginal Costing.
3. What is limiting factor? How the product mix decision is taken in presence of limiting factors?

4. What are the most important areas of management decisions opened up by the application of Marginal costing method? Answer briefly and to the point.
5. A  manufacturing unit is producing15,000 containers per annum. There is good demand in Local as well as export market. The unit is thinking of replacing the present production machine by an automatic machine .Due to this change ,the production will be doubled. The present selling price of each container is Rs.20. The new machine will be operated by one labour while the present machine is operated by two operators. Value of the new machine is Rs.4,00,000 with no scrap value. The old machine has book value of Rs. 1,60,000 and has scrap value of Rs.10,000. The unit is charging l0% depreciation. The cost structure of .containers is as follows:

                                                        Per unit                                      Rs.
Direct    Material                                                                                              6.00
Direct Labour
4.00
Variable overheads
2.00
Fixed overheads (including Depreciation)
2.00
After the new machine is commissioned there will be an increase in fixed overheads
excluding depreciation) by Rs.15,000p.a.

Required:
(a)
CalculatepresentandfutureprofitabilityassumingnochangeinSellingPrice.

 (b) In case the local market demand falls and the new machine is having 80% idle capacity ,will it be feasible to offer the product in export market at a selling price of Rs.1,0.50 Per unit? Will your recommendations differ if the export price is Rs.9.50 per container as against Rs.10.50?
6. Fashion Galore manufactures ladies' wear. It planned to sell maxi skirts in one year at a price of Rs.l00each, the cost of which is Rs.60 each. During the year, out of the manufactured10, 000 skirts only 6,000 were sold. Fashion has now changed and so it is not possible to sell the remaining stock. The Sales Manager finds to alternative courses of action. The skirts can be restyled as Miniskirts or they can be sold as rejects. Cos tof restyling will be Rs.2,00,000 and it is forecast that the Miniskirts can be sold for R.s.80 each while the scrap value of the off cuts will be Rs.30,000. If the company decides to sell, the resulting proceeds will be Rs.80,000.
What will be your advice to the Sales Manager?
References:
1.
Advanced Cost and Management Accounting ; Saxena and Vashist.
2.
A Textbook of Cost Accountancy : M . N . Arora.
3. Cost Accounting : C. T. Homgren, Foster & Dater.
4. Cost Accounting : Dr. B. Banerjee.
5. Financial Management and Management Accountancy: P.V.Rathnam
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Branch expenses:�
�
�
Saiaries,commission and�
�
�
Travelling expenses�
41,000�
40,000�
60,000�
�
Advertisement�
9,000�
10,000�
11,000�
�
Other expenses


Central Office expenses: Rs.1,55,000 apportioned to branches on the basis of sales.25% of sales is taken as Gross Profit.





Based on the above information prepare a comparative Profit and Loss statement for the different branches. Offer your views on the contemplated closure of the branch which shows a loss assuming that in the event of closure of a branch, central office expenses:


Will remain unaffected;


Can be reduced by 30%.


Rs.1,55,000 apportioned to branches on the basis of sales.25% of sales is taken as Gross Profit.





Based on the above information prepare a comparative Profit and Loss statement for the different branches. Offer your views on the contemplated closure of the branch which shows a loss assuming that in the event of closure of a branch, central office expenses:


Will remain unaffected;


Can be reduced by 30%.


�
10,000�
11,000�
12,000�
�
Rs.1,55,000 apportioned to branches on the basis of sales.25% of sales is taken as Gross Profit.





Based on the above information prepare a comparative Profit and Loss statement for the different branches. Offer your views on the contemplated closure of the branch which shows a loss assuming that in the event of closure of a branch, central office expenses:


Will remain unaffected;


Can be reduced by 30%.








Mumbai(Rs.)�
Kolkata(Rs.)�
Chennai (Rs..)�
�
Total{Rs.}�
�
-4,50,000�
	4,00,000�
	7,00,000�
�
15,50,000�
�
1,12,500�
1,00,000�
1,75,000�
�
3,87,5OO�
�






�
Rs.�
�
Contribution from Mumbai and Chennai�
1.44,500�
�
Less: Central office expenses	.�
1,55,000�
�
-  Net Profit/Loss�
(10,500)�
�
.Kolkata branch should not be closed down.
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